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The final four players to qualify for the World Championship are Peter Leko (Hungary), Boris Gelfand (Israel), Alexander Grischuk (Russia) and Levon Aronian (Armenia).  They join Vladimir Kramnik, Peter Svidler, Alexander Morozevich (all Russia) and Vishy Anand (India) in a 14 round double round-robin. Kramnik will undoubtedly be a difficult champion to overthrow. Here is one of his fine tactical wins (White v Saric 1991 – 4 moves):
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Aronian defeated Alexy Shirov (Spain) after winning Game 1 and drawing the last five. In the second, with Shirov pressing to even the score, Aronian transforms an uncomfortable position through an excellent queen sacrifice:

A. SHIROV   -   L. ARONIAN

World Championship Semi-Final, Evista, Russia

Queens Indian Defence

1.d4           Nf6 
2.c4          e6

3.Nf3         b6

4.g3          Ba6

5.Qc2         Bb7(a) 
6.Bg2       c5

7.d5(b)       exd 
8.cxd        Nxd5

9.0-0          Be7 
10.Rd1     Nc6

11.Qa4(c)  Nf6 
12.Nc3     0-0

13.g4!        Nb4 
14.a3        Nbd5

15.Nxd5     Bxd5 
16.g5        Bc6

17.Qh4       Ne8 
18.Ne5      Bxg2

19.Rxd7     Bb7!(d) 
20.Rxd8    Rxd8

21.Be3       Rd5 
22.Nf3      Nd6

23.Qa4       b5! 
24.Qc2(e) Nf5

25.a4          b4 

26.Rd1     Rxd1+

27.Qxd1     Nxe3 
28.fxe3     Rd8

29.Qc2       g6 

30.h4        Bd6

31.Kf2       a6 

32.Nd2     Bf8

33.Nc4       Bc8 
34.Qe4     Be6

35.b3          Rd5 
36.Kg3     h6

37.gxh        Bxh6 
38.Qf3      Kh7

39.e4          Rh5 
40 Nd6(f) Bg5!

41.Nxf7(g) Bxh4+ 
42.Kg2     c4!(h)

43.bxc        Kg8 
44.Nd6     Rg5+

45.Kh1       Rg3 
46.Qf4     Rh3+

DRAW (i)

a) Losing a tempo but deflecting White’s queen from the d file, thus preventing d5 unless White is prepared to sacrifice a pawn…

b) …which he is.

c) Not 11.Rxd5? Nb4.

d) If 19…Qc8 20.Rxe7 Bc6 21.g6! gives White excellent chances (21…fxg 22.Qc4+ Kh8 23.Nf7+ Kg8? 24.Nh6+ Kh8 25.Qg8+! while 21…hxg subjects Black to an attack on the h file – a4/Ra3/Rh3.

e) Not 24.Qxa7? Ra8 25.Qb6 Bd8 trapping the queen.
f) Threatening Nxf7 and Ne8/Nf6.

g) Not 41.hxg5? Rh3+ winning.

h) Creating a dangerous passed b pawn.

i) White is forced to allow a perpetual check.

SOLUTION: 1.Qxf6+! Kxf6 2.Rxe6+ Qxe6 3.Rxe6+ Kxe6 4.Bf5+.

